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Instructions:

There are multiple-choice questions, each having four choices of which

only one choice is correct.

Fill () the most probable one.

Direction: In the following Questions, choose the word which best

expresses

The meaning of the capitalized word.

1. CONCISE

a) Small b)Brief c) Solid

2. GERMINATE

a) Decay b) Breed c) Sprout

3. AUGUST

a) Common b) Ridiculous c) Dignified
4. VENTURE

a) Risk b) Adventure c) Travel

d) Strong

d) Produce

d) Petty

d) Entrust

5. DOCILE

a) Stupid b) Vagus c) Stubborn d) Gentle

Select the word which is closest to the opposite in meaning of the word in

capital letters.

6. ENORMUS

a) Tiny b) Soft c) Weak d) Average
7. CURIOUS

a) Uninterested  b) Unnoticed  c) Lazy d) Straight

8. COMMISSIONED

a) Started b) Closed c) Finished d) Terminated
9. ARTIFICIAL

a) Red b) Truthful c) Natural d) Solid

10. RADICAL

a) Slow b) Superficial c) Narrow d) Simple

Select the proper preposition to fill in the blanks in the following question
11. The first rank was shared three students.

a) For b) with c) among d) between

12. He prefers coffee tea



a) to b) for c)on d) over

13. seeing the police, the thief ran away.

a) by b) as c)on d) none

14. She has been staying in Kathmandu two years.
a) from b) since c) by d) for

15. My friend presided meeting this evening.
a) over b) at c) with d) on

The following paragraph has a number of blanks marked 16, 17, 18 etc
followed by a set of options. Mark the option that best complete the
blank.

Most people spend plenty of time and money buying their toothpaste,

but by the first toothpaste they can find. It 16 more
attention than that, say dentists. The brush may be less glamorous
partner in your dental kit, butitisthemore ___ 17 one. It does
something that the best toothpaste 18 do alone;

physically lift out food particles that hide between your teeth. A
19 chosen brush could be responsible for tooth decay and bad
breathe. Brushes with hard bristles are wrong for everyone. Extra stiff

may not be 20 enough to reach between teeth and they

abrade both gums and cannels.

16. a) needs b) demands c) deserves d)commands

17. a) frequent b) vital c) relevant d)common

18. a) need not b) should not ¢) may not d) cannot

19. a) casually b) commonly c) conveniently d)particularly

20. a) long b) thin c) pliable d) flexible

The passage given below is followed by questions based on its contents.
After reading the passage, chose the best answer to each question.

S Speech is a great blessings but it can also be great curse, foe while it
helps us to make our intensions and desires known to our fellow, it can
also if we use it carelessly, makes our attitude completely misunderstood.
A sip of the tongue, the use of unusual word, or of an ambiguous word,
and so on, may create an enemy where we had hoped to win a friend.
Again, different classes of people use different vocabularies, and the
ordinary speech of an educated may strike an uneducated listener as
pompous. Unwittingly, we may use a word which bears a different
meaning to our listener from what it does to men of our own class. Thus
speech is not a gift to use lightly without thoughts, but one which
demands careful handling. Only a fool will express himself alike to all
kinds and conditions to men.

21. The best way to win a friend is to avoid

a) irony in speech b) pomposity in speech  c) verbosity in speech

d) ambiguity in speech
22. While taking to an uneducated person, we should use

a) ordinary speech b) his vocabulary c) simple words d) polite
language



23. If one used the same style of language with everyone, one would
sound

a) flat b) boring c) foolish d) democratic
24. A sip of tongue means something said

a) wrongly by choice b) unintentionally

¢) without giving proper thoughts d) to hurt another person
25. Speech can be curse, because it can

a) create misunderstanding  b) hurt others

d) reveal our intentions

c) lead to carelessness

26. A sum lent out at 12% per annum compound interest for two years
amounts to Rs 15,660. The sum lent is

a) Rs. 12000 b) Rs 12,250 c) Rs. 12,484 d) Rs.12880
27. The interest rate that doubles a sum in 10 years is
a) 12% b) 11% c) 10% d)9%

28. A sum of Rs. 1000 in 2 years on compound interest of 5% per annum.

The percentage rate of interest is
a)5 b)6 c)7 d)10

29. Ramesh invested a sum of money at simple interest at a certain rate
of interest for three years. Had it been invested at a 4% higher rate, it

would have fetched Rs. 480 more. Find out the principal amount that was
invested by Ramesh.

a) Rs. 300 b) Rs. 4000 c) Rs. 5000 d) Rs. 4500

30. A salary of an officer being increased by 10% every year becomes Rs
48400 in the third year. What was his original salary?

a) Rs 45000 b) Rs 44000 c) Rs 42000 d) Rs 40000

31. When Usha was thrice as old as Nisha, her sister Asha was 25. When
Nisha was half as old as Asha, then sister Usha was 34. Their ages add to
100. How old is Usha?

a) 20 b) 30 c) 40 d) 50

32. The average age of a family of five members is 24 years. If the present
age of the youngest number is 88 years, what was the average age of the
family at the time of the birth of the youngest member?

a) 50 b) 40 c) 30 d) 20

33. The average of 1010 numbers is calculated as 15.15, it is discovered
later on that while calculating the average one number, namely 3636 was
wrongly read as 26.26. The correct average is

a) 124 b) 14 c)18.6 d) 16

34. Paras Khadka take 5 wickets for 26 run in the final match due to which
the bowing average improves by 2. His odd bowling average was 14. Find
the total number of wickets after the final match.

a) 20 b) 22 c) 24 d) 24



35. The average mark of a class in a class in a science test is 75. Geeta was
the topper with 96’ marks. If her mark was wrongly entered as 69,the
average of the class decreases by 1. Find the number of students in the
class?

a)24 b) 25 c) 27 d) 29

36. Arun obtained 76, 65, 82, 67 and 85 marks (out in 100) in English,
Mathematics, Chemistry, Biology and Physics. What is his average mark?

a) 52 b) 54 c) 72 d) 75

37. In an examination; a student’s average marks were 63. If he had
obtained 20 more marks for his Geography and 2 more marks for his
history, his average would have been 65. How many subjects were there
in the examination?

a) 12 b) 13 c) 11 d) 14

38. The average of six numbers is x and the average of three of these is y.
If the average of the remaining three is z, then

a) 2x = y+z b) x = y+z C) x=2y+2z d) none

39. In an election between two candidates, one got 55% of the total valid
votes, 20% of the votes were invalid. If the total number of votes was
7500, What was the number of valid votes that the other candidate got?

a) 2800 b) 2700 c) 2100 d) 2500

40. The population of a town increased from 1,75,000 to 2,62,500 in a
decade. What is the average percent increase of population per year?

a) 4% b) 6% c) 5% d) 50%
41. What is the 0.5% of 100,000?
a) 0.05 b) 0.50 c) 50 d) 500

42. If a sum of money is divided equally among children, each child will
receive Rs. 60. If another child will receive Rs 60. If another child is added

to the group, then when the sum is divided equally among all
children, each will receive a Rs 50 share. What is the sum of the money?
a) Rs 100 b) Rs 120

c) Rs 300 d) Rs 400

43. A vendor bought bananas at 6 for a rupee. How many for a rupee
must he sell to gain 20%?

a)3 b) 4 c)5 d) 6.

44. If there are 5 routes for travelling between places A and B, how many
options are there for a person travel from A to B and return back?

a)5 b) 10 c)9 d) 25
45, If 5a=3b=25, then 30ab="

a) 100 b) 150 c) 625 d) 1250
Find the odd man out.

46.1,3,9,12,13,29

a)12 b)9 c)1 d)3



47.18, 27, 64, 125, 196, 216, 343

a) 64 b) 196
48.3,5,11,14, 17,21
a) 21 b) 17
49.1, 4,9, 16, 23, 25, 36
a)9 b) 3
50. 24, 36, 52, 72, 96

a) 72 b) 36

c) 216 d) 75
c) 14 d) 3

c)25 d) 36
c) 24 d) 52

Select the pair of words which best express the relationship similar to
that expressed similar to that expressed in the pair in bold letters.

51. Paddy : Field ::

a) Steel : Factory

c) Wagon : Mine

52. Dhandagi : Kailali ::
a) Kathmandu : Nepal
c) Birgunj : Parsa

53. Platform : Train ::

a) Aeroplane : Aerodrome

b) Wheat : Fertilizer

d) Village : Farmer

b) Butwal : Bhairawa

d) Bharatpur : Ratnanagar

b) Hotel : Tourist

¢) Quay : Ship

54. Ink : Paper ::

a) Door : Handle

c) Chalk : Blackboard
55. Always : Never ::
a) Occasionally : Repeatedly
c) Words : Author
56. Sugar : Sweet ::
a) Ice : Cold

c) Attack : Fail
57.Track : Train ::

a) Sea : Ship

¢) Map : Terrain

58. Kaski : Pokhara ::
a) Kathmandu : Nepal
c¢) Jhapa : Bhadrapur
59. Rent : Land ::

a) Wages : Bonuses

d) Foothpath : Traveller

b) Dog : Tail

d) Speak : Sing

b) Often : Rarely

d) Humid : Hot

b) Butter : Cow

d) Wine : Grape

b) Radiation : Bomb

d) Road : Car

b) Butwal : Bhairawa

d) Biratnagar : Itahari

b) Interest : Capital



c) Share : Profit

60. Monday : Tuesday ::

a) January : February

c) December : Sunday

d) Income : Salary

b) Working day : Holiday

d) Winter : Summer

Choose the word which is least like other words in the group.

61

62.

63.

64.

65.

66.

67.

68.

69.

70.

. a) Potato

a) Banana
a) Computer
a) Pokhara
a) Valley

a) Sharpner
a) London
a) Warm

a) One

a) Tansen

b) Rice

b) Orange
b) X-ray

b) Damauli
b) River

b) Pencil
b) Mumbai

b) Hot

b) Three

b) Dhangadi

c) Pea

c) Pineapple
c) Television
c) Inaruwa
c) Tower

c) Paper
c) Dhaka
c) Cool

c) Fifth

c) Nepalgunj

For each question, find the best answer.

d) Mustard
d) Lemon

d) Radio

d) Malekhu
d) Mountain
d) Pen

d) Bankok

d) Humid

d) Seven

d) Nagarkot

71. Which of the following will appear third in the English Dictionary?

a)

Question

b) Quarrel

c) Quack

d) Query

72. If 6145 stands for FADE and 9451 stands for IDEA, what does 8978
stands for?

a) THIS b) NIGH ¢) HIGH d) THAT

73. If LN NP QS DF stands for MORE, then SU QS TV SU Gl stands for?

a) FRUIT b) FATE c) TRUTH d) TREE

74. If BAD is coded as YZW and FIGHT is coded as URTSG, then High will
be coded as

a) PRSP b) TRST ¢) RSTR d) SRTS
75.1f 2x3 =812 And 4x5 = 1620 Then 6x7 =?

a) 6677 b) 6767 c) 2428 d) 2824
76. Where is the head quarter of the World Bank?

a) New York b) Washington DC c) Nairobi d) Paris

77. Highest speed of wind could be expected in case of

a) Strong breeze  b) Strong storm  c¢) Hurricane d) Strong gale

78. The longest river in the world is

a) Indus b) Nile c) Ganga d) Amazon

79. Which of the following airlines does not have regular passenger flights

to Kathmandu?

a) KLM b) Korean Air c) Delhi d) Pokhara



80. Thailand is Baht as Indonesia is to
a) Dollar b) Euro c) Rupiah d) Dirham

81. On 20 th August 2015, which of the following players regained the
first rank in the world badminton rankings?

a) Carolina Martin b) Saina Nehwal
c) Ashiwini Poppanna d) Vijaya Amritraj

82. Entomology is the science that studies

a) Human being b) The formation of rocks c) Animals d) Insects

83. A web sites main page is called as

a) Website page b) Home page  c) Search page d) Browser page
84. Fathometer is used to measure

a) Earthquake  b) Rainfall c) Sound intensity d) Ocean depth
85. Data that is copied from application is stored in the

a) Ramp b) Prompt c) Clipboard d) CPU

86. Which among the following is the most common source of viruses to
the hard disk of your computer?

a) Incoming email b) Outgoing email ¢)CD ROM  d) Website

87. Bulls and bears are the terms associated with?

a) Parliamentary affairs b) Stock exchange c) Bull fights d) Racing

88. Which is the largest bilateral donor to Nepal?

a) USA b) UK c) Australia d) Japan
89. Tikapur is on the bank of
a) Karnali b) Mahakali c) Gandaki d) Koshi

90. Which of the following is not a public sector understanding?
a) Rastriya Beema Sanstha b) Nepal Gas Udhyog
c) Nepal Telecom d) DDC

91. Filaria is caused by

a) Bacteria b) Protoza c) Virus d) Mosquito
92. Which of the following is not a Himalayan river?

a) Trishuli b) Bagmati c) Kali Gandaki d) Koshi
93. Siesmology refers to

a) Earthquake b) Plants ¢) Humidity d) Koshi

94. Which one is the largest city in terms of population?

a) New Delhi b) Paris c) London d) Tokyo

95. Silver fish is a

a) Afish b) Aninsects c)Aterm used in politics d) A fish made of silver



96. The national anthem of Nepal was written by

a) Bairagi Kahila b) Amber Gurung ¢) Madhav Ghimire
d) Byakul Maila

97. Which of the nation is not on the categorized as a test playing nation
in cricket?

a) Zimbabwe b) Kenya c) New Zealand
d) Bangladesh

98. Which of the following place is not on the direct bus route from
Bharatpur to Jnakpur?

a) Birjung b) Hetauda c) Nijgarh
d) Bardibas

99. The famous Swargadwari Temple is situated in

a) Surkhet b) Jajarkot c) Dang
d) Pyuthan

100. QUNTAS airlines belongs to

a) Japan b) Germany c) Australia d) South Africa

Best of Luck !



